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Question Number : 1 Question Id : 583224325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Arithmetic Logic Unit in a CPU responds to:
Options:

, w» Commands from the primary memory

> « Commands from the control section

- » Commands from External Memory

4 % Commands from Cache

Question Number : 1 Question Id : 583224325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 583224326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ALU, Control Units and Registers are components of:

Options:
, « Central Processing Unit
- % Hard Disk

- % Memory

4 % ROM

Question Number : 2 Question Id : 583224326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 583224327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A set of insfructions that guide the computer to undertake specific tasks is referred to as:

Options:
| % Memory

5 Programme
- » Logic

4 % Storage

Question Number : 3 Question Id : 583224327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 583224328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The monitor and CPU in a computer are connected using:

Options:
1 #% Alink

> % APCIBus
=z « A S5CSI Bus
4 % ARAMBus

Question Number : 4 Question Id : 583224328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Question Number : 5 Question Id : 583224329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

helps users communicate with the computer.
Options:
, w Output devices only

- % Input devices only

5  Both Input and Output devices

4 ® Using Micro waves

Question Number : 5 Question Id : 583224329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 583224330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
You are planning to organise an academic test. which of the following are vou most likely to use?

Options:

; ® MICR
> « OMR
- #» PDF
4 % ICR

Question Number : 6 Question Id : 583224330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 583224331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A light penis a
Options:

i  Input device
- w Output device

3 % Input - Out device

4 % Tin Film Transfer

Question Number : 7 Question Id : 583224331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 583224332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MP3 is a:
Options:

| % Programme
5 % Anti-virus

= « Sound format

4 % Data

Question Number : 8 Question Id : 583224332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 583224333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Expand COBOL.:

Options:
L % Common Business Operating Language
- w Common Business Oriented Logic

- % Common Business Operations Logic

4  Common Business Oriented Language

Question Number : 9 Question Id : 583224333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 583224334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out.
Options:

1 % Android

» » Blackberry OS

s % Symbian

4 v MSDOS

Question Number : 10 Question Id : 583224334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 11 Question Id : 583224335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are using Page Maker. you are using the following operating system.
Options:

1 ® MS-DOS

> « Windows

z #® Unix

4 % JAVA

Question Number : 11 Question Id : 583224335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 583224336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which one of the following is not a DOS internal comumand?

Options:
;. % CLS

> % Copy
s % DEL
4 v EDIT.COM

Question Number : 12 Question Id : 583224336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » CLS
- » Copy
s % DEL
4 v EDIT.COM



Question Number : 13 Question Id : 583224337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are going to print a document in MS office, you will use the menu.

Options:

1 « File

~ % Home
z #% SMART
4 % Insert

Question Number : 13 Question Id : 583224337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
. « File

> % Home
=z # SMART

4 % Insert

Question Number : 14 Question Id : 583224338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out.
Options:

i W P

- ® .arc

3 ® .rar

4 « .bak

Question Number : 14 Question Id : 583224338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
v ==
Options:

. % ZIP

> ® .arc

z ® .ar

e 4 bak

Question Number : 15 Question Id : 583224339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is not an extension of the source code file?



Options:
1 ® .C

o W P
z % 4
g4« .50

Question Number : 15 Question Id : 583224339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ® .C
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Question Number : 16 Question Id : 583224340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you use the key F1. you are frying to:

Options:
, « Reach out to help dialog box

> # Activate the menu bar

5 % Open the search option

4 % Rename selected file

Question Number : 16 Question Id : 583224340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 583224341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If you use Windows Key + E in MS Windows. you will:
Options:

;  Open My Computer Tab



5 #® Open My Documents Tab
= % Open Search

4 % Reach the Desktop

Question Number : 17 Question Id : 583224341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 583224342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Is not a difference between MS WORD 2003 and MS WORD 20077

Options:
1 %

MS Word 2003 uses DOC file format for saving text documents while MS Word 2007 saves Text Files in
DOCX format and DOC format

5 % MS Office 2003 has ribbon. but MS Office 2007 doesn't have

= % MBS Office 2003 used GUI interface and MS Office 2007 used GUI
4 « Tosave in MS Office 2003 we use Ctrl + S, In MS OFFICE 2007 to save we use Ctrl F

Question Number : 18 Question Id : 583224342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 19 Question Id : 583224343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
You are using MS EXCEL and use the function DCOUNT. what will happen?

Options:
1 +« Counts the cells that contains numbers in database

- % Returns the maximum value from selected database
= # Adds the numbers in the fields

4 % Get the interest rate for selected fields

Question Number : 19 Question Id : 583224343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 583224344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

dBASE. FoxPro, Oracle and Sybase are:
Options:

1 + DBMS software

5 #® Operating Systems

5 = lype of RAM

4 % Ports

Question Number : 20 Question Id : 583224344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 583224345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are using MS Access and use Ctrl +N. you are:
Options:
, « Creating a new database

-~ % Opening an existing database

5 » Create a new database object

4 » Print the current object

Question Number : 21 Question Id : 583224345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 583224346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among the following devices shares network in relatively shorter area?

Options:

1 % Wifi

> « Bluetooth
=z % LAN

4 ® WAN

Question Number : 22 Question Id : 583224346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 583224347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is meant by Protocol?
Options:
, « Itisaset of rules that govern all aspects of information communication

- % It defines the hardware required for a network

- » It defines the security required

4 % Itisafile

Question Number : 23 Question Id : 583224347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 583224348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does TLB stand for?
Options:

1 % Table Lateral Bus

> « Translation Lookaside Buffer
= % Transition Lookaside Buffer

4 % Translate Lookaside Buffer

Question Number : 24 Question Id : 583224348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 583224349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When does the condition of rendezvous arise?
Options:

, % When in the process of passing messages. the sender is blocked till the message is delivered
2

When in the process of passing messages. both the sender and receiver are blocked till the message is
delivered

3. %

It is a situation when messages are being send by two exclusive entities to each other at the same time

4 # When two programmes are being used simultaneously

Question Number : 25 Question Id : 583224349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 583224350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If a file is deleted. you may find it in the;
Options:

, % My computer folder

> % File folder



- # My Pictures folder

4  Recycle Bin

Question Number : 26 Question Id : 583224350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % My computer Hrest

o W File T-I'ﬁﬁT
. % My Pictures Hrest

4 « Recycle Bin

Question Number : 27 Question Id : 583224351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows XP. XP stands for;

Options:

1 % Extra Processor

> #% Extra Performance
= % Extra Potent

4  EXperience

Question Number : 27 Question Id : 583224351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 583224352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If you are using MS Word and use Ctrl + R. you are:
Options:

1 Aligning the text to the right

> » Redoing the last command



5 » Sending the file to recycle bin

4, % Sending the file as attachment

Question Number : 28 Question Id : 583224352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 583224353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

bakisa  file.

Options:

 « Extension for a backup file

- % Extension for batch File

- u Extension for compressed file

, » Extension for object file

Question Number : 29 Question Id : 583224353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 30 Question Id : 583224354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which among the following comes at the top of the hierarchy?
Options:

| % Parent Directory



-  Root Directory

- » Wworking Directory

4 % Home Directory

Question Number : 30 Question Id : 583224354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 583224355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are using MS Windows and click Windows + R. what is expected to happen?
Options:
, # Youwill reach the Desktop

~ % You will reach Windows help dialogue box

5  You will open the run dialogue box

4 % You will minimize all windows

Question Number : 31 Question Id : 583224355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 583224356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the standard protocol for internet?



Options:
1 % JAVA

2 % C+t
2 « TCP/P

4 % Flash

Question Number : 32 Question Id : 583224356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

% JAVA
o % C ++
3.« TCP/IP

4 #% Flash

Question Number : 33 Question Id : 583224357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

.org domain is usually used by:
Options:
, % Government agencies

-~ % Indian Organisations

-  Organisations (Non Profit)

4 % Commercial business

Question Number : 33 Question Id : 583224357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 583224358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Excel. Charts are:

Options:



, « Graphical Representation of information

-~ % Tools used for writing mathematical formula

5 % Tool for Inserting a hyperlink

4 » Tool for linking data sheets

Question Number : 34 Question Id : 583224358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 583224359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A Pie Chart can represent:

Options:

1 Only a single data points/ series

- % Multiple data points/series

- % 1wo data points/ series

4 % Three data points/series

Question Number : 35 Question Id : 583224359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 36 Question Id : 583224360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



If a chart has to be drawn, comparing the production of different food grain in the last 10 years. you would
use:

Options:
, % Apie Chart

-~ % A doughnut Chart

= # A radar Chart
4 +« A bar Chart

Question Number : 36 Question Id : 583224360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 37 Question Id : 583224361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If we are establishing an ATM. we will require to establish a Network.

Options:
1 B PAN

> ¢ WAN
=z ® LAN
g TAN

Question Number : 37 Question Id : 583224361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 38 Question Id : 583224362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does RIP stand for in networking parlance?
Options:
, « Routing Information Protocol

> # Restin Peace
= % Reassured Information Protocol
4 % Rainbow Information Panel

Question Number : 38 Question Id : 583224362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 39 Question Id : 583224363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Spoofing. Masquerade and phishing attacks are:

Options:
1 + Instances of network threats

> # Instances of failure of network

- » Instances of losing network connectivity

4 % Names of anti-viruses

Question Number : 39 Question Id : 583224363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 40 Question Id : 583224364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If you are using MS Access. then you are using a:
Options:
, w Distributed database management system

-  Relational database management system

5 » Object oriented database management system

, w Rotational database management system

Question Number : 40 Question Id : 583224364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

IfE 3T MS Access &T 3931T &7 g g, ar {9 FT 39T FT B &

Options:

| BTEEHLE ST TaUA JUTel

- v ol 3TET Y JuTelr

- x Hesige HINTT TET YU JOTa
4 % UCAAT TEH JFIA JUTH

Question Number : 41 Question Id : 583224365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

While making a MS PowerPoint Presentation you need to go back to a slide. what would you do to do so
conveniently

Options:
1 % Ctrl then slide number

> % Enter then slide number
% « Slide number and then enter
4 # Slide number then Ctrl

Question Number : 41 Question Id : 583224365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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, « FomsE FaY 3R fRT Ctrl g=ew ghem

Question Number : 42 Question Id : 583224366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What will happen if you hold both the right and left keys of the mouse for two seconds while in Slide show
mode of a presentation?

Options:
1 % You will come out of Slide Show Mode

> % You will reach the first slide of the presentation

= « The window will close

4 w Youwill reach the last slide of the presentation

Question Number : 42 Question Id : 583224366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 43 Question Id : 583224367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
C3=1.1 E4. in MS EXCEL will mean:

Options:

, » ThatCell C3 is equal to Cell E4

> % ThatCell C3is 1.1 % of Cell E4

3 « That value of Cell C3 is 10% more than Cell E4
4 % That value of Cell E4 is 10% less than Cell C3

Question Number : 43 Question Id : 583224367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 44 Question Id : 583224368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The ABS function in Excel. helps in;

Options:
1 % Absolute Sum of a series of cell

> « Gives the absolute value of a number
= % Provides the maximum value in the list
4 % Arranges a series in ascending order

Question Number : 44 Question Id : 583224368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 45 Question Id : 583224369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If in MS WORD, you use F4 key, what is expected to happen?
Options:

, % Move text or graphics

-  Repeat the last action

= % Extend a selection

4 % Choose the go to command

Question Number : 45 Question Id : 583224369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 46 Question Id : 583224370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The default extension of MS Word File 1s:
Options:

1 % Jdext

> u -pdf

3 o .doc

4 % Int

Question Number : 46 Question Id : 583224370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS Word ®=e T f2hiee T &
Options:

1 & .text

> % -pdf
2 ¢ .doc

4 % Int

Question Number : 47 Question Id : 583224371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

How is 64 bit Windows operating system better than 32 bit Windows Operating System?
Options:

|  Supports more memory

- % Supports more output devices

5 » Fewer lock-ups

4 % Does not heat up

Question Number : 47 Question Id : 583224371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 48 Question Id : 583224372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out of PROMPT. ERASE. DEL and FIND EXE.

Options:
, % PROMPT

> % ERASE
5 % DEL
. v FINDEXE

Question Number : 48 Question Id : 583224372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

PROMPT, ERASE, DEL 9 FIND.EXE. # fawn @Feq &7 99 F{|
Options:

., » PROMPT
., » ERASE

- = DEL

. v FIND.EXE

Question Number : 49 Question Id : 583224373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Out of the following. which is the primary job of the Operating System?

Options:
1 % Command Resources

>  Manage Resource
- » Map Utilities

4 % Map Users

Question Number : 49 Question Id : 583224373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 50 Question Id : 583224374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which among the following will ideally have the fastest Speed. WAN. MAN. PAN., LAN?

Options:
1 ® PAN

> ® MAN
5 % WAN

Question Number : 50 Question Id : 583224374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

forafoaa 7 ¥ s aifa e @99 o= 29 - WAN, MAN, PAN, LAN?
Options:

, » dEs (PAN)
, % THTTA (MAN)

_ 4 SEgTEA (WAN)

, » TETT (LAN)

Question Number : 51 Question Id : 583224375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TV Remotes, Garage doors. wireless computer speakers. All operate using:

Options:

1 « Infra-red waves
> % Radio waves

% # Micro waves

4 % Sound waves

Question Number : 51 Question Id : 583224375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 52 Question Id : 583224376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘Which of the following is not a modifier key?

Options:
1 ® Alt

% Citrl
% Shift
s BBy

2
&

Question Number : 52 Question Id : 583224376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Effective feedback provides guidance in such a way, that even if the message highlights poor performance.
the overall effect is to motivate the individual. Feedback shouldn’t be confused with coaching. Coaching is
a forward-looking exercise to help a coachee meet their long-term aims. Feedback helps an individual
focus on elements of their performance by focusing on past behaviour.

Feedback must be timely. But choose an appropriate time not when the subject is in an unstable emotional
state. Prepare what you plan to highlight and how you can illustrate your point. Start with the positives: it
will put the subject in a positive frame of mind and enable them to be receptive to further messages. Be
specific. Concentrate on observable behaviour and not generalities. Highlight the behaviour. not the
persomn. that person needs to do differently. In this step. you describe the other person's behaviour or actions
giving specific examples. Link the behaviour to its effect so the subject can understand the consequences
that their action had. Use examples. The more examples you can use. the more powerful your point. Focus
on solutions and make sure those solutions are achievable. This will provide the positive motivation and
way forward. Check for understanding. Allow the individual to summarise what they have heard and the
solutions.

The EEC (Example. Effect and Change) model. The EEC model provides a straightforward step by step
process for giving feedback to others. The process is not judgmental. instead it provides instances of
individual’s behaviour and the impact that it had.

Before vou give feedback. you should consider the typical reaction to that feedback. The SERA (Surprise.
Emotion. Rationalisation and Acceptance) process helps you appreciate the potential stages a coachee may
go through when receiving feedback. These stages may initially block them from assimilating what they
hear. As a coach, you should be aware of these stages and provide time and space for them to occur. By
putting yourself in your coachee’s shoes. you can improve the effectiveness of your feedback.

Sub questions

Question Number : 53 Question Id : 583224378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

EEC stands for:

Options:

, « Example. Effect and Change

- u Effect. Example and Change
- » Emotion, Effect and Change

, » Example, Emotion and Change

Question Number : 54 Question Id : 583224379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Please indicate what you cannot infer from the passage about Feedback.

Options:
, w Feedback should be timely

o « 1t should be immediate, should not wait even if it means that the individual is not stable
5 w Start with the positives

, w Feedback should be specific



Question Number : 55 Question Id : 583224380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

As per the author, EEC approach is good.

Options:

| Asitisastep by step approach

2 %

It is a step by step approach and is not Judgemental: instead it provides instances of individual behaviour
and their effect.

5 % There is role for the coachee or mentee in developing the coaching or mentoring plan

4 = It allows a possibility of discussion

Question Number : 56 Question Id : 583224381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
As a coach why is knowledge of SERA important?

Options:

1, %

By being aware of the possible stages of a typical reaction to feedback, the coachee can make provisions
for them and also empathise with individuals

- % Coach can manipulate different stages
5  Coach can brief the coaches about the stages

4 # Coach can standardise feedback mechanism

Question Number : 57 Question Id : 583224382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘What do you think is the objective of the article?

Options:

1, %

Help coaches understand the feedback mechanism and develop the skills of giving effective feedback

- » Offer a different perspective about feedback

- % Analyse coachee behaviour

4 « Assist coachees in interpreting feedback

Question Id : 583224377 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehiension
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Correct: 1 Wrong: 0
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Correct: 1 Wrong: 0
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Correct: 1 Wrong: 0
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Question Number : 58 Question Id : 583224383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Between 0 and 100. 4 numbers that can be placed to form an AP are (0 and 100 not included).

Options:
. % 10.40. 80, 90

5 & 20.40. 60, 80
5 ® 25.50,75, 100
4 % 20.50.70,90

Question Number : 58 Question Id : 583224383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
0 3ilT 100 & &=, ¥ 4 F=TC 7 @ § 5% T AP (AR 4of) a9 & e foar =
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Options:

, % 10, 40, 80, 90



.« 20, 40, 60, 80
- » 25, 50, 75, 100
, = 20, 50, 70, 90

Question Number : 59 Question Id : 583224384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A quadratic equation ax” + bx + ¢ = 0 where a, b, ¢ are real is such that a and D
(discriminant) are greater than 0, then it represents a parabola whose axis is parallel to the:

Options:

, » Y axis and opens downwards.

- « Y axis and opens upwards.

5 » X axis and opens to the right,

4 % Y axis and opens to the left.

Question Number : 59 Question Id : 583224384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 60 Question Id : 583224385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If o and p are the two roots of the equation x2+x-2=0. then the value of o2 + [32 1s equal to:

Options:
1 ® 10

3¢5
4 % 7

Question Number : 60 Question Id : 583224385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

; & 10
> % 14
3¢5
4 % 7

Question Number : 61 Question Id : 583224386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
4@ — 64 and 4@ = 16, what is the value of 2a - 3b

Options:
1 ® 3

I~

i

.

LS ]
]

®
3 ¥
®

.

4.

Question Number : 61 Question Id : 583224386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

oy 4 (@*D) = 64 o 4 (@D) = 16 &, A 2a - 3b T AT FAT FEM?
Options:

1 % 3

4 % 4

Question Number : 62 Question Id : 583224387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ABC and A XYZ are similar traingles and have their sides as 25 sq cm and 10 sq cm. What is the ratio of
their respective altitudes?

Options:
1.¢ 3.

I

> R

L
TR

=3 B
4 % 10:20
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1 2
- % D3
2 % 35
4 % 10:20

Question Number : 63 Question Id : 583224388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
An observer 2 m tall is 60 m away from a chimney. The angle of elevation of the top of the chimmney from
his eyes is 45° What is the approximate height of the chimney?

Options:
1 % 275m

> % 30m
= % 60m
4 & 62.5m

Question Number : 63 Question Id : 583224388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

4 v 625 T
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Question Number : 64 Question Id : 583224389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If MASON is coded as LZRNM then PLANE is coded as:

Options:
; ® OZONE

> « OKZMD
s % OKZLD
4 % OKZND

Question Number : 64 Question Id : 583224389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

afg wF e AT # MASON &1 LZRNM for@r ST & aF 387 smar # PLANE & & form
ST ?

Options:

, » OZONE
., v OKZMD
. » OKZLD
. # OKZND

Question Number : 65 Question Id : 583224390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Insert the missing number 2. 4, 16, 256. ......

Options:
| « 65536

5 % 65500
5 % 65565
4 % 63535

Question Number : 65 Question Id : 583224390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2, 4, 16, 256, H HeITPyd W& Ta|

Options:

. » 65536
, » 65500
. « B5565
., # 65535

Question Number : 66 Question Id : 583224391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



The Pie Chart provides you the details of Tourist inflow in the prominent hill stations. If the total number
of tourist is 50 lakhs. how many tourist travelled to lonavala and Nainitaal?

Movies watched in a Year (50)

B Lonavia

= Nainital

= Ooty

© Mount Abu

m Shimla

Options:
1 # 0.25 Lakh

> o 25 Lakh
= % 20 Lakh
4 % 15Lakh

Question Number : 66 Question Id : 583224391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TE 918 = (Pie Chart) HT9eT @ B o= # 3= aTel GdTH I
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Ard A eia o1F fbed (50)
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Options:
. % 0.25
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Question Id : 583224392 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (67 to 69)

Juestion Label - Comprehension

The figure below provides the details of the year wise Income of a company.
Answer the questions based on the information available.

(Consider that Profit =Income - Expenditure)

70 -
Income of Company A (in million)

B0 - 60
S0 4
45
Al -
30 - 0 0
20 ~ 0

10~

Sub questions

Question Number : 67 Question Id : 583224393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the expenditure in Year 3 was 20% more than the expenditure in Year 1. If the profit in year 1 was 10
million. then by what percent was the Profit in the Year 3 more or less than the profit in Year 1?

Options:

1 % 40% less
> ® 25% less
=z « 40% More
4.

® 25% More

Question Number : 68 Question Id : 583224394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the expenditure in year 1 was 20 Million, and it increased by 10% every year. What was the profit or
loss in the 4th year?

Options:
1 % 11.68 million

> % 13.38 million



= « 20.38 million

4 # 16.38 million

Question Number : 69 Question Id : 583224395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If the profit in year 6 was 20 million. What % was the expenditure of income?

Options:
1 ® 33.33%

5 « 66.66 %
3 % 25%
4 % 50%

Question Id : 583224392 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (67 to 69)
Juestion Label | Comprehension
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10 -

Sub questions

Question Number : 67 Question Id : 583224393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ofe ey I # @@ 95 9 & g F 20% O onl IR vger aw F amy 10 RAom
of, dF e I H T Tge N H g 7 foae gfaera dfw ar w7 9

Options:
| % 40% FH

> % 25% FH
2 v 40% 30



4 % 25% 3O

Question Number : 68 Question Id : 583224394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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g Far o2

Options:

% 11.68 @faT=
, = 13.38 R
5 v 20.38 ffoma
. = 16.38 TR

Question Number : 69 Question Id : 583224395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ife Bad 99 H o 20 oG UT| &7 =3 31T &7 fohded % oA1?

Options:

| % 33.33%

. « 66.66%

s % 25%

4 % 50%

GEMERAL AWAREMNESS
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Question Number : 70 Question Id : 583224396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Triptikas are associated with:

Options:



1 + Buddhism
> # Hinduism
=z % Judaism

% Christianity

Question Number : 70 Question Id : 583224396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Afes Tag 2
Options:
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Question Number : 71 Question Id : 583224397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
RBI has set the upper limit of PPF to

Options:
; % INR 1.25Lakh

- « INR 1.50 Lakh
s % INR 1.00 Lakh
,  INR 1.75 Lakh

Question Number : 71 Question Id : 583224397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

s Ao &% ¥ Ofive $r sTeas O ferenfya #r g1
Options:

, % % 1.25 W@

- ¢ . 1.50 1@

2 % T 1.00 9E

L% % 1.75 9%

Question Number : 72 Question Id : 583224398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following operating system was unveiled by Microsoft recently?
Options:

1 « Windows 10



- % Windows 9
= % Windows 15
4 % Windows 12

Question Number : 72 Question Id : 583224398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g 21 H ASFETe (Microsoft) et Faff@a & ¥ FiF ¥ 3mfET [ea = a==
o T ar?

Options:
1« Windows 10

- % Windows 9
=z # Windows 15

4 # Windows 12

Question Number : 73 Question Id : 583224399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The recommendation made by the law commission (in March 2015) on electoral reforms does not include
the following reconunendations.

Options:
, w Restrict a candidate to contest from only one constituency

-  Appoint the chief election commissioner and two other ECs through a collegiums
- % Make voting mandatory

, » Banindependents from contesting polls (those willing can get a party registered

Question Number : 73 Question Id : 583224399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 74 Question Id : 583224400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
India's former President and Scientist Dr. A. P. J Abdul Kalam died on 27th July, where did he die?

Options:
1 % Delhi

- # Rameshwaram
= # Indore

4 « Shillong

Question Number : 74 Question Id : 583224400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
R & Y TsgUia TF FTTae 31 U O . 3eqel FoAH FH 27 Jorg F Fua g mm,
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Options:

, w Tl
> w THIEH
P U
4 v TR

Question Number : 75 Question Id : 583224401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Narmada originates from:
Options:

| « Amarkantak (Madhya Pradesh)

- % vindhyan Range (Madhya Pradesh)
=z % Rukumkote

4 » Gangotri

Question Number : 75 Question Id : 583224401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 583224402 Question Type: TYPING TEST Display Question Number : Yes

In an age of rapid globalization and dynarmic economic scenario, skills hawve become the cornerstone of
economic growth and social developrment in any given econory. India is no different. India's econorric and
social developrient pivots upon skills development. We strongly believe that a country with a high proportion
of skilled workers could not only show progress on social and economic indicators but also weather the
upheavals in the global economy.With 12 million people entering the workforce on an annual basis, India's
labor force is expected to grow to over 800 million by 2022, Moreover, with an average age of 29 years, the
country's population pyrarid is expected 10 "bulge” across the 15-59 age-bracket over the next decade,
increasing the working age population from approximately 761 million to 869 million during 2011-2020.
Consequently, India will be experiencing a period of '‘demographic bonus,' where the growth rate of the
working population would exceed that of the total population. Apart from this, world's developed economies
such as the Australia, USA, Europe and Japan will have a larger proportion of population in the older age
bracket, thereby creating a demand for skilled work force in these countries Thus, India is endowed with the
biggest opportunities of all tirmes, as it will soon be the home for the world's largest working population with
the other courntries looking for youth to work for thery however, this is also a fairly complex supply side
challenge, as all of them need to be skilled ‘adequately' and ‘appropriately’. However, presently only 25-30
million of the workforce is formally skilled. Even if the planned capacity expansion is accounted for, the skilled
workforce base is expected to 2o only up to 80-100 million by 2017, Thus, more than 800 million require
some kind of vocational or skill development training. Moreover, India also has to look for a skilling systerr
that is aligned to international assessment and qualification frameworks, enabling mobility among the
rescurces trained in India. The skill training to new entrants to workforce is abysmally low (only 2% in India)
when compared to other countries - 96% in Korea, 80% in Japan, 75%in Germany and £2% in UK. Most of the
formal training institutions are established in the tier-1 and tier-2 cities| towns - thus constraining access for
prospective beneficiaries from rural areas to acquire relevant skills with acceptable quality.
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